$$\begin{aligned} I_{1} \times B_{1} [x_{0}|r] - 3aude, \ \sigma p, \\ I_{1} \\ (t_{0}-S_{1} b+S_{1}) \times [x_{0}-r, x_{0}tr] =) uountalunation \\ \delta & turno ge homenwatero \\ \delta & \leq \delta_{1}, \frac{r}{c}, \int B_{1} & d_{1} \\ d_{1} & d_{2} \\ M: &= \{x: [t_{0}-\delta_{1}, t_{0}+\delta_{1}] \rightarrow R_{1} | x_{0} + \mu u_{p}, +t | x_{1}(t_{1}-x_{0}| \leq r) \} \\ \|x_{1}\|_{\infty} &:= \max |x|(t_{1})| \\ & te[t_{0}-\delta_{1}, t_{0}+\delta_{1}] \\ fe[t_{0}-\delta_{1}, t_{0}+\delta_{1}] \\ I. & Y & go go gu ge ge f. \\ (x_{1})/t_{1} &= x_{0} + \int f(s, x(s)) ds \\ xet = x(s)eB[x_{0}, r] \leq 4 \end{aligned}$$

=)
$$\|f(x) - f(y)\|_{\infty} \leq \frac{1}{10} \|f(x) - f(x)\|_{\infty}$$

Here: Us banox de us.
=1 Sa bando & JI pun (K.3.)
Image: $\begin{cases} x^{1}(t) = x(t) & f(t, x/t) \\ f(t) = f(t) & f(t, x/t) \\ f(t) = f(t) & f(t) = f(t) \\ f(t) = f(t) & f(t) \\ f(t) = f(t) & f(t) \\ f(t) = f(t)$

$$\begin{aligned} & \alpha_{0} = \chi_{0}(t) \equiv \chi_{0} \quad (3\lambda^{0}g) \text{ is pressed in a given } given \\ & \alpha_{1} = \chi_{1}(t) = Y(\chi_{0})(t) = \chi_{0} + \int_{0}^{t} \chi_{0}(s) ds = \chi_{0} + \int_{0}^{t} \chi_{0} ds = x_{0} + \chi_{0} \cdot t_{-} \chi_{1}(t) \\ & \alpha_{1} = \chi_{1}(t) = Y(\chi_{1})(t) = \chi_{0} + \int_{0}^{t} \chi_{1}(s) ds = \chi_{0} + \int_{0}^{t} \chi_{0}(t) + \chi_{0}(s) ds = x_{0} + \int_{0}^{t} \chi_{1}(s) ds = x_{0} + \chi_{0} \left(1 + s + \frac{s^{1}}{2} + \cdots + \frac{s^{1}}{n_{1}} \right) ds \\ = \chi_{0} + \chi_{0} \left(1 + \frac{t^{2}}{2} + \frac{t^{3}}{6} + \cdots + \frac{t^{n+1}}{(n+1)!} \right) \\ = \chi_{0} \left(1 + t + \cdots + \frac{t^{n+1}}{2} + \frac{t^{n}}{6} + \cdots + \frac{t^{n+1}}{(n+1)!} \right) \end{aligned}$$

~~ · ^

 $x_{n}(t) = x_{0}(1+t+...+\frac{t^{n}}{n!}) \rightarrow x_{0}e^{t}, m \rightarrow \infty$ punjense je selt) = 20 et, 2'= 2 Have myte: barth ga xn -> x J 11. 11 as the channer ceres wy denetur. permin k3 ICR X'=ax X(to)=Xo Bonnotry genesa 6.u. uj. kao y Aferix. Apurupj domotund. Now when $\begin{cases} X' = \frac{X}{t} \\ X(t_0) = X_0 \quad t_0 \neq 0 \end{cases}$ Here thursday grop. jegte unge I AJ koja pazglogia apomethoule (1) $X'(t) = f(t)g(x) = g(x) \neq 0$ how fiax; $\frac{dx}{dt} = f(t)g(x) / . dt$ $\frac{1}{30} + \frac{1}{30} + \frac{1}{30}$ $\int \frac{dx}{g(x)} = (f(t) dt)$ >:F(+) G(X) They fater as perm. figry. (1) gene og muthymants $ce \quad G(z) = F(t) .$ Lous. 1. × ji fem. (1) => G(2(1+)) = F(+) $x' = f(t)g(x), \quad G(x(t)) = \int \frac{dx}{g(x(t))} = \begin{cases} \chi(t) = \chi \\ dx = \chi' \ dt \end{cases}$ $= \int \frac{x'(t)dt}{q(x(t))} = \int \frac{f(t)q(x(t))}{q(x(t))}dt = \int f(t)dt = F(t)$ 2. and jo χ ϕj^{α} to t 3a hopy bout $G(\chi(t)) = F(t)$ =) I j j . (1) $G(x(t)) = F(t)_{1} = \int f(t) dt$

$$\int \frac{dx}{g(x(t))} = \int \frac{dx}{g(x(t))} + \frac{dy}{g(x(t))} = \int \frac{dx}{g(x(t))} + \frac{dy}{g(x(t))} = \int \frac{dx}{g(x(t))} + \frac{dx}{g(x(t))} = \int \frac{dx}{x^{1}(t)} = \frac{dx}{g(x(t))} + \frac{dx}{g(x(t))} = \frac{dx}{g(x(t))} = \frac{dx}{g(x(t))} = \frac{dx}{g(x(t))} = \frac{dx}{g(x(t))} = \frac{dx}{g(x(t))} + \frac{dx}{g(x(t))} = \int \frac{dx}{g(x(t))} = \frac{dx}{g(x(t))} = \frac{dx}{g(x(t))} + \frac{dx}{g(x(t))} = \int \frac{dx}{g(x(t))} = \frac{dx}{g(x(t))} + \frac{dx}{g(x(t))} = \int \frac{dx}{g(x(t))} = \int \frac{dx}{g(x(t))} = \int \frac{dx}{g(x(t))} = \int \frac{dx}{g(x(t))} + \frac{dx}{g(x(t))} + \frac{dx}{g(x(t))} = \int \frac{dx}{g(x(t))} + \frac{dx}{g(x(t))} + \frac{dx}{g(x(t))} = \int \frac{dx}{g(x(t))} + \frac{dx}{g(x(t))} + \frac{dx}{g(x(t))} + \frac{dx}{g(x(t))} + \frac{dx}{g(x(t))} = \int \frac{dx}{g(x(t))} + \frac{dx}{g($$

$$\begin{array}{l} 4-\eta' = \eta' = \eta + \eta' = 4-\eta^{2} \\ \frac{dy}{dt} = 4-\eta' , \quad \int \frac{dy}{4-\eta'} = \int dt = t+c \\ \frac{1}{4} \int \frac{2-y+2+y}{(2-y)(2+y)} dy = \frac{1}{4} \left[\int \frac{dy}{2-y} + \int \frac{dy}{2+y} \right] \\ = \frac{1}{4} \left[\ln(y+2) - \ln(y-1) \right] = \frac{1}{4} \ln \frac{y+2}{y-2} \end{array}$$

$$\frac{1}{4} \lim_{y \to 2} \frac{1}{y-2} = t+C$$

$$\frac{1}{y-2} = e^{4(t+c)} = c_{1}e^{4t}$$

$$= 1 \quad y(t) = 2 \quad \frac{c_{1}e^{4t}-1}{c_{1}e^{4t}+1} = 1 \times (t) = 4t - y + 1$$

$$= 4t + 1 - 2 \quad \frac{c_{1}e^{4t}-1}{c_{1}e^{4t}+1}$$

$$= 4t + 1 - 2 \quad \frac{c_{1}e^{4t}-1}{c_{1}e^{4t}+1}$$

$$2 = 4.0 + 1 - 2, \frac{c_1 - 1}{c_1 + 1} = 7 \boxed{c_1 = \frac{1}{3}}$$

1 Aufleopite jighomite
(2)
$$x^{i} + P(t)x = Q(t)$$

(2) $x^{i} + P(t)x = Q(t)$
(2) $x^{i} + P(t)x = O$
(L: $x \mapsto x^{i} + P(t)x$)
 $\frac{dx}{dx} = -P(t)x$
 $\frac{dx}{dx} = -P(t)dt$
 $\frac{hx}{dx} = -\int p(t)dt + C_{1}$
 $\frac{x(t)}{dt} = C e^{-\int p(t)dt + C_{1}}$
beinvopum $y_{0} w_{0}p$ $g_{1} = \{x \mid x^{i} + P(t)\} = 0\}$
 $\frac{dometrin 5}{domesacon} qe gi $\mathcal{R}_{H} = \{x \mid x^{i} + P(t)\} = 0\}$
 $\frac{dometrin 5}{domesacon} qe gi $\mathcal{R}_{H} = \{x \mid x^{i} + P(t)\} = 0\}$
 $\frac{dometrin 5}{domesacon} qe gi $\mathcal{R}_{H} = \{x \mid x^{i} + P(t)\} = 0\}$
 $\frac{dometrin 5}{domesacon} qe gi $\mathcal{R}_{H} = \{x \mid x^{i} + P(t)\} = 0\}$
 $\frac{dometrin 5}{domesacon} qe gi $\mathcal{R}_{H} = \{x \mid x^{i} + P(t)\} = 0\}$
 $\frac{dometrin 5}{domesacon} qe gi $\mathcal{R}_{H} = \{x \mid x^{i} + P(t)\} = 0\}$
 $\frac{dometrin 5}{domesacon} qe gi $\mathcal{R}_{H} = \{x \mid x^{i} + P(t)\} = 0\}$$$$$$$$

(b)
$$U_{4} = q_{LC}$$
) $\int p(t)(t) = \chi(t)C$
 $\subseteq : (y_{1}y_{2},...,y_{n}, \chi_{C}, \chi_{C}, \chi_{C}, \chi_{C}, \chi_{C}) = \chi(t)C$
 $\supseteq : w$
(b) $M_{1}w_{2} = g_{1} J_{3}g_{3}g_{3}g_{4} L_{4} (=) \dim = L) w$